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plt.imshow(]
plt.imshow(]

import matplotlib.pyplot as plt
plt.imshow(x_train[@], 'gray')
plt.show()
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plt.subplot(2,5,i+1)[Z 9 5 & #t2. w5 DEHIZIEH
for i in range(10):
plt.subplot(2,5,i+1)
plt.imshow(x_train[i], 'gray')
plt.show()
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test = [1,2,3,4,5]

print(test)

print(test[o]) # 1> H D1 I SN ET

test2 = [[1],[2],[3],[4],15]]

print(test2)

print(test2[o]) # 1> H O HE 1 SV E T
print(test2[o][o]) # [1](test2[o]) D> 1 D H TH A 103 J1 SV FE T
test3 = [[1,2,31,[4,5,61,7,8,91,[10,11,12],[12,13,14]]
print(testy)

print(test3[o]) #1 > H D[1,2,3]1 8 ) S E T
print(test3[o][o]) #[1,2,3](test3[0]) D1-DH T&H 5 [1]

Import numpy as np

test = np.array([1,2,3,4,5])
print(test)

print(test[o])

test2 = np.array(l[1],[2],[3],[4],[51])
print(test2)

print(test2][o])

print(test2[o][o])

test3 = np.array([[1,2,3],[4,5,01,[7,3,9],[10,11,12],[12,13,14]])
print(test3y)

print(test3[o])

print(test3lo][o])
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X_train = x_train.reshape(x_train.shapel[o], it DV A AxfHD VA AxF ¥ - RI)b
2X)/255

=t X_train = x_train.reshape(x_train.shapel[o], it A XAxfH D VA Ax1)/255
MLPO#EZETIIHEZ 72O Tx1 #8KE LTCE L=
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x_train = x_train.reshape(x_train.shape[o],fit D %A XxH DY 1 ZAx3)/255
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x_train = x_train.reshape((x_train.shape[0],784)) « = @78463: 28)(28)(1 — 784
X_test = x_test.reshape((x_test.shapel@],784))

print(x_train.shape)
print(x_test.shape)

(60000, 784)
(10000, 784)
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